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(Constrained optimization: maximization or minimization)










L.P.

Max Z = Max 10x, + 9x,
S.t.
7/10x | + X, <630

1/2x, + 5/6x, <600

X, + 2/3x, <708

1/10x, + 1/4x, <135
X, Xy, =0
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(standard form)
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max 50x,; + 40x, + 0s; + 0s, + 0s;4
S.t.
33Xy + 95X, + 54 150

X, +S, 20
8X, + 5X, +5s, = 300

Xy, X55 S5 Sy S3 20
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min z = min 2x,; + 3X,

s.t. \

X; + X, 2330

X, >125
2X, + X, <600
X1, X5 2 0




. (250,350)  (125,225) (250, 100)

z=600,1200, - - o

3~
X, = 250 (>125)  x, = 100 0.f. = 800 .




X,=250

(surplus)
e

min z = min 2x, + 3X, + 0s; + 0s, + 0s,
S.L.

X;+ X, — S = 350
Xy — S, =125
2X, + X, =600







. X, 2500, X,> 360

CN
1
2)

(80,0, 32,5)




o.f.

max 20x; + 10x,
S.t.
Xy 22

X, <5

Xy, X, 2 0







The End of Chapter 2




